POLYWOOD

Intelligent Design™
Model: ECA15

1) Seat
(1) Back
__(2) Front legs
__(2) Arms

(1) Long brace wing faces

__(1) Short brace front
__(1) Hardware pack

TOOLS NEEDED

THE Wramsh
dmm HEX KEY, ALLEN, T-HaNCLE

{INCLUDED)

8

Description

ﬂ.ﬂ- 2T X E]ﬁiﬁ‘ ﬁﬂﬁﬁﬁf

B-154-20 X 1-7/8 WAFER SHCS

MCJH -20 X 2104 WAFER SHCS
@ D-1/4 FLAT WASHER

E-1/4-20 NYLOCK NUT

ASSEMBLY INSTRUCTIONS

Step 1

Attach front legs to seat
using (&) 1-7/8" bolts, nuts
and washer

Attach long brace
using (2) 2" scraws

long brace

Step 3
Aftach back to seat
using (2) 2" screws

Attach back to arm
using (2) 2" scraws

ALL HARDWARE IS5 STAINLESS STEEL

Step 2
Attach arms to front leg using

(2} 2-1/4" bolts, nuts and w:
| ———pE

Step 4
Attach shor brace to rear leg
using (2) 2" screws

1112802012

FURNITURE LEISURE INC

wiwiw, Furniitureleisure.com
wiwrw, PicnicFurniture.com

1.800.213.2401

www, ParkTables.com

www, PoslFurnitureSupply.com
www, PicnicTableSupplier.com
www, UBrace.com




POLYWOOD

FURNITURE LEISURE INC

fntelligent Design™

1.800.213.2401

www.ParkTables.com

www.FurnitureLeisure.com  www.PoolFurnitureSupply.com
www. PicnicFurniture.com www.PienicTableSupplier.com
www. UBrace.com

ECAI15 - Long Island Adirondack Chair [39 Ibs]

e

7

' A, !

~

B

24"

e U.
S|

1

A

381{(1"




